

④



$$\left(\frac{\cos(\cos x - r)}{\cos x - r} \right)' = -(\cos x)' = \sin x \quad x = \frac{\sqrt{r}}{4} \rightarrow \sin\left(\frac{\sqrt{r}}{4}\right) = \frac{-1}{r}$$

$$f'(\frac{\sqrt{\pi}}{4}) - \nu g'(\frac{\sqrt{\pi}}{4}) = (f - \nu g)'(\frac{\sqrt{\pi}}{4})$$

$$f'(\frac{\sqrt{\pi}}{4}) - \nu g'(\frac{\sqrt{\pi}}{4}) = (f - \nu g)'(\frac{\sqrt{\pi}}{4})$$

$$g'(V/2) = \frac{V/2 - 32\sqrt{3}}{144} = \frac{102 - 64\sqrt{3}}{72}$$

⑧

④

④

$\sqrt{5a}$

$\sqrt{5a}$

Y

Y

Y

Y

Y

$$\xrightarrow{\Delta \rightarrow 0} (1 - v_a)^t - f(r)/(1+r) = 0 \rightarrow \begin{cases} a = \frac{r}{v} \\ a = r \end{cases}$$

(1,0)

(1,0)

(1,0)

$$f(x) = \Lambda + Ya - b = 0 \rightarrow Ya - b = -\Lambda \rightarrow b = -1\Lambda$$

$$f'(x) = Yx^Y + a = 1Y + a = 0 \rightarrow a = -1Y$$

$$b - a = -1\Lambda + 1Y = -Y \quad \checkmark$$

$$\lim_{x \rightarrow \infty} \frac{\ln x^{n+1} - \ln x^{n-1}}{\left(\frac{x^Y}{Y}\right)^m} = \lim_{x \rightarrow \infty} \frac{\ln x^{n+1} - \ln x^{n-1}}{\frac{1}{Y^m} x^{Ym}} = \lim_{x \rightarrow \infty} Y^m \ln x^{n+1} - \ln x^{n-1}$$

$$\left\{ \begin{array}{l} \ln x^{n+1} - \ln x^{n-1} = 0 \rightarrow n = \frac{Ym+1}{Y} \\ Y^m \ln x^{n+1} = Y^m \ln x^{n-1} \rightarrow Y^m \ln x^{n+1} = Y^m \ln x^{n-1} \rightarrow Y^m \ln x^{n+1} = Y^m \ln x^{n-1} \end{array} \right.$$

$$f(x) = \sin^n(x^Y) \rightarrow f'(x) = n \sin^{n-1}(x^Y) \times \cos x^Y \times Yx$$

$$\lim_{x \rightarrow 0} \frac{f(x) f'(x)}{(1 - \cos x)^m} = \frac{\sin^n(x^Y) \times n \times \sin^{n-1}(x^Y) \times \cos x^Y \times Yx}{(1 - \cos x)^m}$$

$$\rightarrow \frac{x^{Yn} \times n \times x^{Yn-Y} \times (1 - \frac{x^Y}{Y}) \times Yx}{(1 - (1 - \frac{x^Y}{Y}))^m} = \frac{Y \times n \times x^{Yn-Y} \times (1 - \frac{x^Y}{Y})}{(\frac{x^Y}{Y})^m}$$

$$Y^{m+1} \times n \times x^{Yn-Ym-1} \times (1 - \frac{x^Y}{Y}) = Y \quad \left\{ \begin{array}{l} \frac{Y}{Y} - m = 0 \rightarrow m = \frac{Y}{Y} \\ Yn - Ym - 1 = 0 \rightarrow n = \frac{Y}{Y} \end{array} \right.$$

$$f(x) = \frac{\sqrt{x} + 1}{\sqrt{x} - 1} \rightarrow f'(x) = \frac{\frac{1}{2\sqrt{x}} (\sqrt{x} - 1) - (\sqrt{x} + 1) \frac{1}{2\sqrt{x}}}{(\sqrt{x} - 1)^2} = \frac{-\frac{1}{\sqrt{x}}}{x - 2\sqrt{x} + 1}$$

$$f''(x) = \frac{-\frac{1}{Y} (x)^{-\frac{Y}{Y}} (x - 2\sqrt{x} + 1) - (-\frac{1}{\sqrt{x}}) (1 - \frac{1}{\sqrt{x}})}{(x - 2\sqrt{x} + 1)^2} = \frac{\frac{1}{\sqrt{x}} - \frac{1}{Y\sqrt{x}}}{(x - 2\sqrt{x} + 1)^2}$$

$$f''(Y) = \frac{\frac{1}{Y\sqrt{Y}} - \frac{1}{Y\sqrt{Y}}}{(Y - 2\sqrt{Y})^2} = \frac{\frac{1}{Y\sqrt{Y}}}{(Y - 2\sqrt{Y})^2} = \frac{1}{Y\sqrt{Y} \cdot 9Y}$$

$$f(u) = \left(\frac{u+1}{u-1}\right)^Y \rightarrow (f')' = Y \left(\frac{u+1}{u-1}\right)^{Y-1} \times \frac{-Y}{(u-1)^2} \rightarrow (f')' = Y \times \frac{Y}{(u-1)^2} = -1Y$$

$$f(-1) = \Lambda (1 - a) = \Lambda - \Lambda a$$

$$\frac{1 - \Lambda + \Lambda a}{0 + 1} = \Lambda a - Y = -11 \rightarrow a = -\frac{1}{Y}$$

$$f(0) = 1$$

$$f(x) = (x^Y + 1)^Y \left(-\frac{1}{Y}x + 1\right)$$

$$f'(x) = Y(x^Y + 1)^{Y-1} \times Yx \times \left(-\frac{1}{Y}x + 1\right) + (x^Y + 1)^Y \times \left(-\frac{1}{Y}\right)$$

$$f'(-Ya) = f'(1) = \Lambda \quad \checkmark$$

$$y = \sin x \cos Yx \rightarrow \sin \frac{\pi}{Y} \cos \frac{\pi}{Y} = 0 \quad \sin \frac{\pi}{Y} \cos \pi = -1$$

$$\frac{-1 - 0}{\frac{\pi}{Y} - \frac{\pi}{Y}} = -\frac{Y}{\pi}$$

$$y = \sin^Y x - \cos^Y x = -\cos Yx \rightarrow -\cos \frac{\pi}{Y} = 0 \quad -\cos \pi = 1$$

$$\frac{1 - 0}{\frac{\pi}{Y} - \frac{\pi}{Y}} = \frac{Y}{\pi}$$

$$\frac{-\frac{Y}{\pi}}{\frac{Y}{\pi}} = -1 \quad \checkmark$$